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Electrotécnia

SERIE 1

Primera part

Exercici 1
Qlc Q2 a Q3 c Q4 b Q5 ¢c
Exercici 2
v 400
—_— an — \/§ p—
a) Ay = \/R2+Xé T V25%Z4252 6,53 A
1 1
v 400
—_— an — \/§ p—
b) 4 = \/R%erﬁ = T - 0064
2
c) V; =R, A; =25-6,53 =1633V
d) V, = X¢q A; = 256,53 = 163,3V
E) V3 = RZ AZ = 35 . 6,06 = 212,1 \%
f) V, = X1, A, = 156,06 = 90,9V
Segona part
OPCIO A
Exercici 3
_ Py _ 100000 _ o
) 1N = V3UyIncos@y  V3-400-196-0,82 89,81 %
Alternativament,

PN 100000

IN'= BUnIncoson  v3-2303390.82

b)p=1
) r=2=1200%_3793Nm
w 2900 —

60

d U=230V,I1=339A

=90,3%
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Exercici 4

— Ra R3 _ 10-15
2 {Ul =(Ri+752) L+ Ry (h+1) {48 = (2+10) L+ 10 (1 + 1)

10+15
U2:R512+R4(11+12) 12=312+10(11+12)

{48=18]1+1012 . [18 10] [11] 48] [11]_[3,761A

12=101 + 131, 10 131 [L] 7112 I ~1,97 A
b)
Py, =Uy I, = 483,761 = 180,53 W
Py, = Uy I, =12+ (=1,97) = —23,64 W
c)

IZZOA d UR4:U2:12V

Up =Ry L e R 4
R+ feRe g g4 20015 4 p
17"Ry,+R; " 4 10+ 15 " ™4
12-8
12(8+R,) =48R, - R, =2,670Q

28— 12
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OPCIO B
Exercici 3
_nhn_1
a) X ==7=50
=2 _ %0 _
b) Xc =22 =7=30Q
w; 270

c) W, = (R, +R,) A2 - Ri+R,=—2==-=30Q

re
Af 32

d) U=Z1=1+(Ry +Ry)*+ (X, — Xc)? =3+/302+ (5—-30)2 =117,15V

e) En ressonancia, X;, = X i, per tant,

U=11715V=21=1/(Ry + Ry)? + (X, — X0)? = 1 /302 + 02

I = 11715 _ 3,905 A
30 7

W, = (R; + R,) A? = 30-3,9052 = 457,47 W
Alternativament,

. U* 117,57
"R, +R, 30

W, = 457,47 W
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Exercici 4
a)
I—P —2500— 10,87 A
U 230
AUpsyx = 0,05-230 = 11,5V
AUppax AUpax 11,5
2R, s, = R sy = = = 0,529 Q
max = T 7 Mmax T T T 5087
Ruax =P L = Spin=2p0 =0,01786-10"° = 3,376 mm?
max Smin in Royax 0,529
Alternativament,
AUz = 0,05 230 = 11,5V
U? 2302
Rcalefactor = ? = 2500 =21,16 Q
U—-AU,,; 230—-11,5
| = LU =10,33 A
Rcalefactor 21'16
AU, AU, 11,5
2R s, = R ., = = = 0,557 Q
max = T 7 Mma T T T 570,33
R L S 0,01786 - 10=° 100 3,21 2
max p Sm{n min p ngx ) 0’557 ) mm
b)

La secci6 escollida és 4 mm?
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C)
U? 230?
R alefactor = F = 2500 =21,16 Q
L -6
Rconductor = P S =0,01786 - 10 4.10-6 = 0,4465 Q
I = v = 230 =10,43 A
Rcalefactor + 2 Rconductor 21:16 +2- 0:44‘65 '
Ucatefactor = U — 2 Reonductor I = 230 — 20,4465 - 10,43 = 220,7V
d)
7](%) =100 Pconsumida calefactor
Pinici linia
U I 220,7-10,43
n(%) = 100 —2efactor - _ 190 2222~ — 9596 %

Ul 230-10,43




